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E>5OF<O 4 >=4 G6<45?4, >4> 5OEFD> ?D>G<F4? 55 

<=>7>EFD4=<G=GN EF4FLN ?D>D5EE>D-D5F5=75=F. 

%>>D>EFL 57> GF5=<O ?>D47<?4 �G4, < >=4 74<=F5D5-

E>64?4EL >?OF>< ?N45=, G<F4NM<E 5OEFD55 4DG7<E. 

��������$��%&� %��$�'&���/

�>E?5 46GE ?5F <EE?54>64=<O MF>7> D5=><5=4 -65?<= 6O-

65?4 =5E>>?L>> 74>>=><5D=>EF5=: <7GG45<O5 5N ?N4< 

G<F4?< ?> 65DF<>4?<, G<5?< 6<45FL =5 >F45?L=O5 E?>64, 

4 7DG??O E?>6 <?< F5?O5 ?D54?>65=<O, 4 F4>65 =<>>744 

=5 6>76D4M4?<EL > ?D>G<F4==><G, F> 5EFL G<F4?< 557 

D57D5EE<=. �>?55 F>7>, ?D5?>4464F5?L=<F4 E>65DL5==> 

E?GG4==> >5=4DG6<?4, GF> ?D< GF5=<< 55 677?O4 E?54G5F 

74 46<6GM<<EO ?> EFD>G>4< 

?4?LF5<. � G5< D57G5 

46<65=<5, F5< 5OEFD55 

46<74NFEO 7?474, 6O-

E64FO64O <=D>D<4-

F<N E> EFD4=<FO.
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� E>65FE>>5 6D5<O E>>D>GF5=<5 G?><<=4?>EL 6 =4GG=OE <744=<OE 4465 D4=LL5, G5< 

6 �<5D<>5, >4=4>> ?>FD55=>EFL 6 =5< =5 6>7=<>4?4 4> 1960-E 77. �4G4?> >>E<<G5E>>= 

7>=>< 1950-E 77., <=4GEFD<4?L=O= ?D>7D5EE, D>EF ?>F>>4 <=D>D<4F<< 6> 6E5E >5?4EFOE 

6<7=<, M?>E4 65?<><E >F>DOF<= ?>FD55>64?< =>6>7> ?>4E>44 > 7=4=<O<, 4 F4>65 > E>>D>EF< 

6>E?D<OF<O < >5D45>F>< <=D>D<4F<<. %4<O<< <765EF=O<< <EE?54>64F5?O<< 6 >5?4EF< 

5OEFD>7> GF5=<O EF4?< �. �. �=4D556, �. �. �G7=5F>6 < �. �. %D><>6 4 <E >=<7< < E57>4=O 

?>?L7GNFEO ?>?G?OD=>EFLN.

��$��/ ,���� %��$�'&���/

�5NO6<6 E55O 6D47>< 7>D<7>=F4?L=>7> GF5=<O, 

<4?>7> G7?4 >57>D4 < D57D5EE<=, -65?<= �G4 

E<>7?4 E>744FL L>>?G, 6 >>F>D>= 74=O?4EL 

>5GG5=<5< 4<=4<<G5E>><G GF5=<N. %F><<>EFL 

>GDE4 6 44==>< 746545=<< 5O?4 4>6>?L=> 

6OE>>>=, => MF> =5 >EF4=46?<64?> M=FG7<4EF>6, 

65?46L<E G?GGL<FL E>>D>EFL GF5=<O < >4G5EF6> 

GE6>5=<O <=D>D<4F<<. 
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$476<F<5 F5>D<< < ?D4>F<>< E>>D>GF5=<O 

6 %>65FE>>< %>N75 EF4?> D57G?LF4F>< E<=-

F574 4>EF<65=<= 7G<4=<F4D=OE 4<EF<??<= 

(=4?D<<5D, ?E<E>?>7<O < 5<5?<>?E<E>?>7<O), 

F5E=<G5E><E < <=D>D<4F<>==OE =4GG=OE 

>5?4EF5= (F4>, �. �. �=4D556, 6O?GE>=<> 

�>E>>6E>>7> M=5D75F<G5E>>7> <=EF<FGF4 ?> 

E?5F<4?L=>EF< «46F><4F<>4 < F5?5<5E4=<>4», 

>5D4F<? 6=<<4=<5 =4 ?D>5?5<G E>>D>GF5=<O, 

>>744 74M<M4? >4=4<44FE>GN 4<EE5DF4F<N ?> 

6>?D>E4< >D74=<74F<< ?>F>>>6 <=D>D<4F<<). 

%>65DL5=EF6>64=<5 <5F>4<G5E>>= EF>D>=O 

F5>D<< ?D><EE>4<?> 5?47>44DO 55 F5E=>= E6O-

7< E ?D>5?5<4<< D476<F<O E<EF5<O 6OEL57> 

>5D47>64=<O 6 %%%$.

Ň� Ř��Ŋ� �ň�,��%Ŋ��
%>74֙զ5?՜ ֨֟բ՟ ֚֫EF֤>7բ 
Gզ5֢՜O >5 5֮֩֙զ ա56 5֤բOF֢GN 

E֟>֤>EFի Gզ5֢՜O ź4 <<֢՜-

<4?֢֬բ5 ֟>֠<ը5EF֛բ ź֙աOF<՝. 

Ňբ ֢՜ >4<ա ֢֙EF֛֢֙<՞ ա5 ź4-
EF֛֙<զ ֛֙ե G<F֙Fի ֚֫EFդ55, 
?GGթ5 ՜ ֣֤>4G֟F<֛ա55, 5ե?՜ ֛ժ 

ա5 ֚G4 5զ5 EFդ5<<F֬եO ՞ ֭Fբ-
<G E4<՜. �46֢բ ֣բ֢֡<Fի, GFբ 
EGգ5֤E֟>֤>EFի ՜ 7?G֚>֟բ5 ֣>֢՜-

֢֡֙՜5 ֣֤>G<F֙=֢>7բ ա5 ֛բź֢՜-

֮֟֙զ ֢4 ֣GEFբՠ ՠ5Eզ5 4 ֟֙՞ 

՜ ֚֮֠բ5 4>EF՜՚5֢՜5, E֟>֤>Gզ5-
֢՜5 ֣դ54֛֙դO5զ գ5֤<>4 G֣>֤֢>7բ 
F֤G44. Ňբ ֣>6 5֤֬զ5: ֛ժ ֚G4 5զ5 
֛բź֢֙7֤4Ź4 5֢ժ EF>֤<F5՝.
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�>E?><<=4=<O E>6D5<5==<>>6, ?<EL<4 < <5<G4DO 4>=5E-

?< 4> =4E E6545=<O > F><, >4> G<F4?< 7=4<5=<FO5 ?N4<. 

�O44NM<5EO 45OF5?< >G?LFGDO, =4G>< < ?>?<F<>< =5 7DO 

EG<F4NFEO >5?444F5?O<< <=>7<E F4?4=F>6 4 >=< < G<F4FL 

?D54?>G<F4NF 5OEFD> < MDD5>F<6=>, F. >. 6EO <E 6<7=L 

=4EOM5=4 E>5OF<O<< < =4?465=4, >4> G4EO. %D54< E4<OE 

OD><E D<7GD, >>F>DOE ?D<6>4OF 6 ?D<<5D =4G<=4NM<< 

E>>D>GF5F4<, G?><<=4NF �. �>DL>>7>, �. 45 �4?L74>4, 

�. �. '5D=OL56E>>7>, &. -4<E>=4.

���%�� ��$,���

�> E6<45F5?LEF64< E>6D5<5==<>>6, �4>E<< �>DL><= 5O? 

E?>E>55= ?D>G5EFL F5?O= 6GD=4? E> EF<E4<< < D4EE>474<< 

74 =5E>>?L>> <<=GF. �<E4F5?L 5D4? 6GD=4? 6 DG><, E>>?L-

7<? 677?O4>< ?> EFD4=<F5 E65DEG 6=<7 <, ?D>E<>FD56 F4> 

<744=<5 >F >>D>< 4> >>D><, 74>DO64? 57>. %6>57> 4DG74, 

G6<456L57> F4>>= =5>5OG=O= E?>E>5 GF5=<O < 6O764-

6L57> �>DL>>7> =4 E?>D ?> ?>6>4G ?D>G<F4==OE D4EE>47>6, 

?<E4F5?L >D4==5 G4<6<?: >= =5 F>?L>> ?><=<? D45G?O 6E5E 

<EF>D<=, => < <>7 E6>5>4=> >D<F<>>64FL <E?>?L7>646L<5EO 

6 =<E EG4>65EF65==O5 ?D<5<O. � F> 65 6D5<O 57> >??>=5=F 

EG<5? ?<LL 6>E?D><765EF< >5M<5 45F4?< ?D>E<>FD5==OE 

F5>EF>6, => =<>4> =5 F>=><5 =N4=EO EF<?O. � >>=F5 E?>D4 

4DG7 �>DL>>7>, 74FD4F<6L<= =4 GF5=<5 6GD=4?4 =5 <5=LL5 

G4E4, GE><=<?EO, G<55F ?< >= 6>>5M5 G<F4FL.

���$� �� ���,���

�>4>5=O5 <EF>D<< D4EE>47O64?< < ?D> �=>D5 45 �4?L74>4, 

G5= >5L<D=O= FDG4 «'5?>65G5E>4O >><54<O» ?> ?D46G =47O64-

NF M=F<>?>?54<5= DD4=FG7E>>= 6<7=<. �D>74<> >?<E4? E6>= 

<5F>4 GF5=<O 6 >4=>< <7 ?D><76545=<=: «�?<FO64=<5 <OE?< 

6 ?D>F5EE5 GF5=<O 4>EF<74?> G =57> E?>E>5=>EF< D5=><5=4?L-

=>=. �77?O4 57> >E64FO64? E5<L-6>E5<L EFD>G5> ED47G, 4 D4-

7G< ?>EF<74? E<OE? E> E>>D>EFLN, E>>F65FEF6GNM5= E>>D>EF< 

57> 7?474. '4EF> >4=>-54<=EF65==>5 E?>6> ?>76>?O?> 5<G 

GE6><FL E<OE? F5?>= DD47O. �7> ?4<OFL 5O?4 GG4><. �= EF>?L 

65 >FG5F?<6> ?><=<? <OE?<, GE6>5==O5 <7 GF5=<O, >4> < 6>7-

=<>4NM<5 6> 6D5<O D47<OL?5=<O <?< 55E54O».
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%F4D4F5?L=> >E64<64? E>>D>GF5=<5 ?D57<45=F %,� 

$D4=>?<= $G765?LF. �= <>7 >E64F<FL >4=<< 677?O4>< 

F5?O= 4574F. $4EE>47O64NF, GF> 74 746FD4>>< $G765?LF 

GE?564? ?D>G<F4FL 6EN >=<7G. �>?LL4O MDG4<D>64=-

=>EFL ?D<=>E<?4 ?D57<45=FG ?>?G?OD=>EFL. �D< MF>< 

<EE?54>64F5?< 57> 5<>7D4D<< >F<5G4NF, GF> ?>>474-

F5?< E>>D>EF< GF5=<O $G765?LF4 6 F>F ?5D<>4, >>744 >= 

F>?L>> =4G<=4? <=F5D5E>64FLEO E>>D>GF5=<5<, 5O?< 

65EL<4 ED54=<<<. �<5==> MF>F «<7LO=» < ?>46<7 57> =4 

GE<?5==O5 FD5=<D>6><. �= G?>D=> 74=<<4?EO < E<>7 

>E6><FL <5F>4<>G 6 E>65DL5=EF65.

����%���$ �',���

�5 <5=55 G4<6<F5?L=O5 <EF>D<< D4EE>47O64?< < ?D> 

�. %. �GL><=4. 'F5=<5 ?><EF<=5 5O?> 57> EFD4EFLN 4 

G<F4FL >= <>7 74?>5<, EGF>4<< =5 >FDO64OEL >F >=<7<. 

-F> 5O?< ?D><76545=<O =5 F>?L>> =4 DGEE>><, => < =4 

DD4=FG7E>>< O7O>5. 'F5=<5 4?O �GL><=4 E>6<5M4?>EL 

E 7?G5>><< 4=4?<F<G5E><< FDG4><: <=>7<5 >=<7< <7 57> 

5<5?<>F5>< E>ED4=<?< =4 ?>?OE 557?O5 ?><5F>< ?>MF4 

< 45F4?L=O5 D47<OL?5=<O =4 >F45?L=OE ?<EF4E. �?5>-

E4=4D %5D7556<G =5 F>?L>> 5O? =5GF><<<O< GF5F><, 

=> < >5?444? 65?<>>?5?=>= ?4<OFLN. �= 557 FDG44 ?><-

=<? <=>65EF6> <<5= < D4<<?<=, 44F < E>5OF<=.

�ň��ňŊ�Ŋ��Š �Ň$ň$��&��
�. �. �5֢<ա F֙՞՚5 >5?֙44՟ ֚բ?֬֨>՝ E֣>E>֢֚>EF֬N ՞ «֣բ-
7֠>M5֢<N» <֢D>դ֡֙F<՜. �. �. �>֢ը-�֤G 5֛<ը F֙՞ >֣՜-

E֛֫4՟ 57բ E<Eզ5<G Gզ5֢՜O: «�>744 O ֛<4 5՟ G<F֮֙M57բ 
�5֢<֢4, <ա5 ֟4ź4֠>Eի, GFբ >ա ա5 ֣֤>G<F֛֫45զ EF֤>֟G ź4 
EF֤>֟>՝, 4 ե<>F֤<զ EF֤֢֙<FG ź4 EF֤֢֙<F5՝ ՜ ֚֫EF֤բ 
GE֛֙<֛45զ ֛ե5 ֣>֤47<զ5?֢֬բ 7?G֚>֟բ ՜ F>G֢բ: ը5դ 5՛ ա5-
֟>F>֤բ 5 ֛դ 5ՠO >ա F<F<֤>֛4՟ ֢4 ֣4ՠOFի >F4 5?֢֬ժ5 
D֤4źժ ՜ ֙5ź֙Fժ, ֟֙՞ ֚G4Fբ >ա 4>֠7բ ՜ Eգ5F<4?֢֬բ ՜źG-

G4՟ Fբ?֬֟բ GFբ ֣֤>G<F֙=֢բ 5. �ՠ5=֢բ ֭Fբ ՜ 44?բ 
֛բ՛<բ6֢>EFի �?֙4՜<<֤G �?֬<GG ֣֤>ը5EFի F֙֟բ 5 
7֤բ֡֙4֢բ 5 ֟>֠<ը5EF֛բ ֢֟<7 ՜ EF֙զ5՝, ֟>F>֤բ<G 

ա5?ի՛O ա5 ՜źG<<F֬եO».
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&><4E4 -4<E>=4 >F?<G4?4 DG=44<5=F4?L=>EFL 

?>47>F>6>< > ?N5>= 7444G5. �D5645 G5< ?D<EFG-

?<FL > >G5D54=><G ?D>5>FG, >= 6>76>4<? =4 E6>5< 

D45>G5< <5EF5 54L=< <7 =4GG=OE >=<7, 6GD=4?>6, 

E?D46>G=<>>6. '<5=<5 5OEFD> >5D454FO64FL 

<=D>D<4F<N < MDD5>F<6=> 55 E<EF5<4F<7<D>-

64FL ?><>7?> 5<G 4>EF<GL 5?5EFOM<E D57G?LF4F>6 

6 =4G>5 < F5E=<>5. 

�Ř��Ň��Ňň� ř�ŇŢŊ��
�֢>7՜5 ֛֫4֮֙֩՜5եO Gը5֢ժ5,  ֣ >֭Fժ, 

֣<E֙զ5?՜, ֣>֠<F<֟՜ ֛֫4 5՟O?՜ 

6 E֛բ 5ՠ 5՚54ա5֛֢բՠ ֤֙E֣<E4-
֢<՜ ź֢֙G<զ5?֢֬֫՝ >Fդ57>՞ 

֛դ5ՠ5֢՜ 4՟O Gզ5֢՜O. 

Ŋ֙՞, �֮EF֙6 $֠>55դ 
6 գ5֤<>4 E>74֢֙՜O ź֢4-
ՠ5֢<F>7բ ֤բ֢֡֙4 
«�֙44ՠ �>֛֤֙՜» G՜-

F4՟ ա5 ՠ5ա55 5 G֙E>6 
6 EGF֟՜. �<E֙զ5?ի Ŋբ֡֙ե 
�֢֙ա ֣֤>֛>4՜՟ ź4 ֢֟<7>՝ 

3,5 G֙E4, EFբ?֬֟բ ՚5 G՜-

F4՟ ՜ D<֠>E>D �ՠ֢֡֙G-

՜՟ �֢֙զ. �՚54ա5֛֢բ 3 G֙E4 
֣>E6֯֩4՟ ֭Fբ<G ź֙աOF<N 

'֙դ՟՛ �֤֛֙<ա, ֛֙F>դ զ5>֤<՜ 

M֛>֮֠F<՜, ֣֤<ը5ՠ G֙ե >ա G4 5՟O՟ 

֢֙GG֢ժՠ ֢֟<74ՠ, >EF4?֢֬ժ5 4֛4 4 

Gզ5֢<N 74՛ 5զ ՜ >F6 5F4ՠ ֢4 ֣<Eի<4.
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$47G<55FEO, <765EF=O5 < F4?4=F?<6O5 ?D54EF46<F5?< G5?>65G5EF64 ?>?G-

G4NF E6>< F<FG?O 74 6O44NM<5EO 74E?G7<, < 6 F5?>< >=< 5>?55 >44D5=O, 

G5< >5OG=O5 ?N4<. �4=4>> G65DO5< 64E: 6 E?GG45 E 5OEFDO< GF5=<5< 

>464O= G5?>65>, <<5NM<= E5DL57=GN <>F<64F<N < 65?4=<5 ?>FDG4<FLEO, 

<>65F 4>EF<GL <?< 4465 ?D567>=F< GD>65=L E4<OE 7=4<5=<FOE E>>D>GF5-

F>6 ?D>L?>7>. %?>E>5=>EFL 5OEFD> G<F4FL =5 >4=4 <7 7D4=5= F4?4=F4 4 

MF> ?>?57=O= =46O>, 6OD454FO645<O= E ?><>MLN FD5=<D>6>>. �E6><FL 

?>4>5=O= ?D<5< <>65F ?N5>= EF4D4F5?L=O= G5?>65>, F65D4> =4F5?5==O= 

=4 4>EF<65=<5 D57G?LF4F4.
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�5=D>?<=76<EF<G5E>>5 ?D>7D4<<<D>64=<5 (���) 4 >4=4 <7 65F65= ?D4>F<G5E>>= 

?E<E>?>7<<, ?>?GG<6L4O 6 =4L< 4=< 5>?LLGN ?>?G?OD=>EFL. ���-E?5F<4?<EFO 

?><>74NF ?N4O< 6OD45>F4FL >?D545?5==GN <>45?L 65D54?L=>7> < =565D54?L=>7> 

?>6545=<O 4?O 4>EF<65=<O <4>E<<4?L=>7> D57G?LF4F4. 

&��$�/ $��$����&�&���/% %�%&��

� ��� 4>F<6=> ?D<<5=ONF F5>D<N D5?D575=F4F<6=OE E<EF5<, >>F>D4O >E=>64-

=4 =4 4=4?<75 E<7=4?>6, ?>EFG?4NM<E <7 >D74=>6 GG6EF6. �=4 7?4E<F, GF> 4?O 

>5D45>F>< E<7=4?>6 <7 6=5L=57> <<D4 ?N4< ?>?L7GNFEO >4=>= <7 D5?D575=F4-

F<6=OE E<EF5<: 7D<F5?L=>=, E?GE>6>=, ><=5EF5F<G5E>>=.

�D<F5?L=4O E<EF5<4 >?<D45FEO =4 <=D>D<4F<N, ?>?GG5==GN ?> 7D<F5?L=O< 

>4=4?4<, F> 5EFL =4 6<7G4?L=O5 >5D47O. %?GE>64O E<EF5<4 4 =4 E?GE>6O5 

>5D47O < 76G><. �<=5EF5F<G5E>4O 4 =4 F4>F<?L=O5 >MGM5=<O < <>F>D<>G. 

%?5F<4?<EFO F4>65 D4EE<4FD<64NF E<EF5<O, >>F>DO5 4=4?<7<DGNF >MGM5=<O 

6>GE4 < 74?4E4, => >=< O6?ONFEO 6E?><>74F5?L=O<< < 6 D4EG5F =5 55DGFEO. 

� >E=>65 F5>D<< 
D5?D575=F4-
F<6=OE E<EF5< 
?564F E<7=4?O 
?OF< >D74=>6 
GG6EF6 G5?>65>4.
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�>7=<>45F 6>?D>E: >4> MF4 F5>D<O E>>F=>E<FEO E F5E=<>>= E>>D>GF5=<O? 

�F65F ?D>EF: 6 5OEFD>< GF5=<< D5?D575=F4F<6=4O E<EF5<4 =5 <5=55 

646=4, G5< 6 ���. �=4=<5 E6>5= D5?D575=F4F<6=>= E<EF5<O ?><>745F 

GE?5L=> 6>E?D<=<<4FL, 4=4?<7<D>64FL <, 7?46=>5, >5D454FO64FL F5>EF. 

 ���-?E<E>?>7 4>6>?L=> 5OEFD> <>65F >?D545?<FL, >4>4O <7 E<EF5< =4<5>-

?55 E4D4>F5D=4 4?O >464>7> >>=>D5F=>7> <=4<6<44. �5?45F >= MF> E ?><>-

MLN =45?N45=<= 74 D5GLN G5?>65>4. 

�ňŇ���š���Ŋ� ř� %ň�ň�
ň֣դ54 5֠<Fի E֛>N 6 54G֩GN դ5֣դ5՛ 5֢F֙F<֛֢GN E<Eզ5<G 

֛ժ <բ՚5զ5 E4<՜. ř֣֙<֨<զ5 E֛>՜ ֤477>֛>֤ժ ՜?՜ ֣֤>EFբ 
֛֢՜֡֙զ5?֢֬բ ֣>֢֚֮֙֠4֙=զ5 ź4 զ5ՠ, ֟֙֟՜5 ե֠>֛4 ֛ժ 

>֚֫G֢բ <E֣բ?իźG5զ5 6 դ 5G՜. �ե?՜ G֙EFբ G֣>Fդ55՟O5զ5 
֛֤֫4՚5֢՜O «6֛<4G E<FG֙F<՜», «4֛֙֙=զ5 ֤֙Eե<>զ-

֤՜ՠ», «O ֣դ54EF֙6՟ON», ź֢֙G<զ, ֛4ՠ E֛>=EF6 5=֢4 
7֤<զ5?֢֬4O E<Eզ5<4 ՜ E>>F6 5FEF֛G֮֩<՝ 5՝ ֢֟֙4՟ 

֛>E֣֤՜OF՜O. �ե?՜ ֛ժ 7>֛>֤<զ5 «O ա5 ե֠֫֨G ֛֙թ5 <ա5-
֢՜5», «4֛֙֙=զ5 >֚EG4՜ՠ», «ź֛GG<զ G554<զ5?֢֬բ», Fբ ֛ժ 

֙G4<4՟ 4 ֣֤<6 5դ՚5ա5F ե?GE>֛>՝ E<Eզ5<ժ. �<ա5Eզ5F՜-

ը5E֟4O E<Eզ5<4 ֣֤բO6՟O5զ ե55O ֛բ D֤4ź֙E «O GG֛EF֛GN, 

GFբ ֛ժ ֣֤֛֙ժ», «֡G֤֙֨֟՜ ֣բ ֟բ՚5». 
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�F 654GM5= E<EF5<O G5?>65> ?>?GG45F ?L6<=GN 4>?N <=D>D<4F<< >5 >>DG64NM5< 

<<D5 ?> >?D545?5==><G >4=4?G. �=>7<5 ?N4< 5M5 E> L>>?L=>= E>4<L< ?><=OF, >4>>= 

<7 >4=4?>6 G =<E D476<F ?GGL5: 6<7G4?4< 5O?> ?D>M5 74?><<=4FL =4?<E4==>5 6 GG55-

=<>4E, 4G4<4?O ?D54?>G<F4?< >4<= D47 GE?OL4FL >5NOE=5=<5, 6<5EF> F>7> GF>5O 

10 D47 G<F4FL >=<7G, ><=5EF5F<>< ?>?474?<EL =4 ?5D5?<EO64=<5, 6> 6D5<O >>F>D>7> 

5O?4 7445=EF6>64=4 D45>G4O DG>4.

'&���� = �$����

'<EFO5 F<?O 4 4G4<4?, 6<7G4? <?< ><=5EF5F<> 4 6EFD5-

G4NFEO D54>>, 5>?LL<=EF6> ?N45= <E?>?L7GNF 6E5 >4-

=4?O 4>EF4F>G=> MDD5>F<6=>. �4=4>> E?54G5F ?><=<FL, 

GF> ?D< GF5=<< 7445=EF6>64= <<5==> 7D<F5?L=O= >4=4? 

6>E?D<OF<O <<D4, ?>MF><G 57> =5>5E>4<<> FD5=<D>64FL 

=4<5>?55 4>F<6=>, 5E?< 6O E>F<F5 =4GG<FLEO E>>D>-

GF5=<N (>E>55==> 6 F>< E?GG45, >>744 64< <765EF=>, 

GF> 4?O 64E >= =5 4><<=<DGNM<=). ' ?N45= E E>D>L> 

D476<F>= 6<7G4?L=>= E<EF5<>= <7=4G4?L=> <<55FEO =5-

5>?LL>5 ?D5<<GM5EF6> ?5D54 >EF4?L=O<< 4 << 5G45F 

?D>M5 GE64<64FL F5E=<>G 5OEFD>7> GF5=<O.
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���/&,

'5?>65>G, 7=4NM5<G E6>= 7?46=O= >4=4? 6>E?D<-

OF<O, ?D>M5 ?D>4G<4FL EFD4F57<N 74?><<=4=<O 

< GEF4=>6?5=<O 4EE>F<4F<=. �O G45?<< 6=<<4=<5 

?4<OF< < 55 FD5=<D>6>4< 6 ?>E?54GNM<E 7?464E. 

%5=G4E F>?L>> ?>4G5D>=5<, GF> ?D< GF5=<< >4<=4-

>>6> 646=> =5 F>?L>> 5OEFD> 6OE64F<FL <=D>D<4-

F<N <7 F5>EF4, => < GE6><FL, 74?><=<FL 55. �45EL 

=4 ?><>ML ?D<E>4OF D47?<G=O5 <=5<>F5E=<><, 

=4?D<<5D 74?><<=4=<5 G5D57 4EE>F<4F<<. � 74-

6<E<<>EF< >F ?D5>5?444NM5= D5?D575=F4F<6=>= 

E<EF5<O G5?>65> <>65F ?>4>5D4FL >?F<<4?L=O= 

F<? 4EE>F<4F<=. �<7G4? 5G45F 6>E?D<=<<4FL <=-

D>D<4F<N 6 F65F4E < >D4E>4E, 4G4<4? <>65F ?D54-

EF46<FL, >4> 55 ?D><7=>E<F 4<>F>D, ><=5EF5F<> 

E6O65F =>6O5 7=4=<O E >MGM5=<5< ?>>4?O64=<O 

6 ?44>=OE. �4D<4=F>6 F4><E <=5<>F5E=<> 4 <4E-

E4, E =<<< 6O ?>7=4>><<F5EL ?>765.

&$����$

� ��� 4>F<6=> >?5D<DGNF F4><< ?>=OF<5<, >4> FD<775D (>F 4=7?. Trigger 4 

«E?GE>>6>= >DNG>>»), F> 5EFL M?5<5=F D54?L=>EF<, ?D< 674<<>45=EF6<< E >>-

F>DO< G5?>65> =4G<=45F <E?OFO64FL >?D545?5==O5 M<>F<< <?< ?5-

D56<64FL 6>E?><<=4=<O. �>OE=<< =4 ?D<<5D5: 5E?< 6 45FEF65 

D555=>> 574<? 6 7>EF< > 545GL>5, >>F>D4O 6E5744 G7>M4?4 

57> ?<D>74<< E >>D<F5=, F> ?D< 6<45 ?<D>74 E >>D<F5= 

<?< >MGM5=<< 57> 74?4E4 G65 67D>E?O= G5?>65> <>-

65F =5?D><76>?L=> 6E?><=<FL E6>N  545GL>G. �564G 

74?4E>< E?5F<< < GNF=O< 545GL><=O< 

4><>< GEF4=>6<?4EL 4EE>F<4F<6=4O 

E6O7L, >>F>DGN 74?GE>45F >>=>D5F-

=O= M?5<5=F D54?L=>7> <<D4 4 

>>D<F4.
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%4<O< 646=O< M?5<5=F>< ���, >>F>DO= <>6=> <E?>?L7>64FL ?D< >5GG5=<< E>>D>-

GF5=<N, O6?O5FEO, ?>64?G=, F5>D<O <>44?L=>EF5= < EG5<>44?L=>EF5=. 

� 6<7G4?L=>= <>44?L=>EF< >F=>E<FEO ?N5>= >5D47, >>F>DO= 6>7=<> 6 64L5= 7>?>65 

?5D54 <OE?5==O< 67>D><, 4 GF>-F>, GF> 6O 7D<F5?L=> 6>>5D4645F5 <?< 6E?><<=45F5 

$�&�'&����

$>F>GF5=<5, >4<= <7 ?>4E>4>6 6 >5GG5=<< 5OEFD><G 

GF5=<N, <E?>?L7G5F E?>64-FD<775DO. �=< =G6=O, 

GF>5O ?>47>F>6<FLEO > GF5=<N, =4EFD><FLEO =4 

=57>. � >F?<G<5 >F ���, ?D< E>>D>GF5=<< FD<775DO 

D45>F4NF >4> E?GE>>6>= <5E4=<7< =5 4?O 6>75G6-

45=<O M<>F<= <?< 6>E?><<=4=<=, 4 4?O 6>?NG5=<O 

6=<<4=<O < ?4<OF<. � =5>>F>DOE ?>E>5<OE ?> 5OEF -

D><G GF5=<N E>65FGNF =5?>ED54EF65==> ?5D54 

74=OF<5< 5OEFD> ?D>?<EF4FL >=<7G <?< EF4FLN, 

6OG?5=OO >F45?L=O5 E?>64, 74 >>F>DO5 

74F5?<?EO 677?O4. &4><5 E?>64, >EF46L<5EO 

6 ?4<OF< ?>E?5 557?>7> ?D>E<>FD4 F5>EF4, 

< =47O64NFEO FD<775D4<<. �=<  6O45?ONFEO, 

?D<FO7<64NF 6=<<4=<5 GF5F4 < ?><>74NF ED>D<G?<D>64FL 6>?D>EO: 

«'F> O E>5<D4NEL ?D>G<F4FL?», «� G5< <45F D5GL 6 F5>EF5?».

6 6<45 >F45?L=OE D>D<, F65F>6 ?<5> F5?>EF=OE 

>4DF<=>>; > 4G4<4?L=>= 4 <OE?5==> ?D54-

EF46?O5<O5 76G><, 7>?>E4, <G7O>4; > ><=5EF5-

F<G5E>>= 4 6>>5D4645<O5 ?D<>>E=>65=<O 

> ?D54<5FG, >MGM5=<O E>?>44 <?< F5??4, 7?44-

>>EF< <?< L5D>E>64F>EF<. 

� ��� E?>64-FD<775DO 4 E?GE>>6>= >DNG>> 
4?O 6>75G645=<O 6>E?><<=4=<=, ?D< 
E>>D>GF5=<< 4 4?O 6>?NG5=<O 6=<<4=<O.

30
26

EFD.

&5EF =4 >?D545?5=<5 
<>44?L=>EF<
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%'������,��%&�

%G5<>44?L=>EF< 4 >F45?L=O5 

E4D4>F5D<EF<>< >5D47>6 6OL5-

G>474==OE <>44?L=>EF5=. 

%G5<>44?L=>EF< 6<7G4?L=OE 

>5D47>6 4 MF> >5N5< (>5D47 

<>65F 5OFL ??>E><< <?< >5N-

5<=O<), F65F (G5D=>-55?O= <?< 

D47=> F65F=O=), G5F>>EFL (D47<OFO= 

<?< D57><=) < F. 4. 

� 4G4<4?L=O< EG5<>44?L=>EFO< <>6=> 

>F=5EF< 7D><>>EFL, 6OE>FG, ?D>FO65==>EFL 76G>>6, <E D<F< < <5?>4<N. � ><=5-

EF5F<G5E><< 4 E4D4>F5D<EF<>< ?D<>>E=>65=<= < >MGM5=<=, F> 5EFL F5<?5D4FGDG 

?D54<5F4, E>EF>O=<5 ?>65DE=>EF< < F. 4. 

�=4?>7<G=> G >5D47>6 6E5E <>44?L=>EF5= 4 6>GE>6>=, >5>=OF5?L=>= 4 <>6=> 

6OG?5=<FL D47?<G=O5 EG5<>44?L=>EF<.

%'������,��%&�: ���/� ����/�

�>E>>?L>G 6O >5GG45F5EL E>>D>GF5=<N, F> =4<5>?55 EGM5EF65==O<< 4?O 64E 5G4GF 6<7G-

4?L=O5 E4D4>F5D<EF<>< F5>EF4. �>=5G=>, 46F>DO F5>D<< =5=D>?<=7 6<EF<G5E>>7> ?D>7D4<-

<<D>64=<O 6DO4 ?< D4EE<4FD<64?< EG5<>44?L=>EF< 6<7G4?L=OE >5D47>6 6 ?D<<5=5=<< 

> >F45?L=O< >5N5>F4<. �?O E?5F<4?<EF>6 EG5<>44?L=>EFO<< F5>EF>6, E >>F>DO<< 6O 5G45F5 

D45>F4FL, >EF4=GFEO >5N5< (4 MF< F5>EFO =5 >F?<G4NFEO 5>?LL<< D47<5D><), F65F (?D4>F<-

G5E>< 6E5744 G5D=>-55?O=), G5F>>EFL (?>GF< 6> 6E5E E?GG4OE G5F><=). �4=4>> 46F>DO E4<OE 

D47=>>5D47=OE ?D4>F<> E>>D>GF5=<O «F6>DG5E><» ?5D5>E<OE?<?< =4D45>F>< ���!
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�5D54 64<< 464 64D<4=F4 F5>EF4. �=<<4F5?L=> ?>E<>FD<F5 =4 =<E, ?>?D>5G=F5 

64G<G<6> >E>7=4FL <7?>65==GN =<65 <=D>D<4F<N. %>7?4E<F5EL, ?D46O= 64D<4=F 

6>E?D<=<<45FEO < GE64<645FEO 5OEFD55 < MDD5>F<6=55! %>FO 745EL <E?>?L7>64=O 

6E57> 465 <7 6>7<>6=OE EG5<>44?L=>EF5= F5>EF4: 6O45?5=<5 ?>?G6<D=O< LD<D-

F>< < D47D565==>5 =4?<E4=<5. � 654L <>6=> ?D<<5=<FL 5M5 D47<5D, F65F, =4>?>= 

< F<? LD<DF4.

red 4 >D4E=O=

[red]

red 4 >D4E=O=

[ r e d ]

orange 4 >D4=656O=

[8Vrjnd�]

orange 4 >D4=656O=

[ 8 V r jn d� ]

yellow 4 65?FO=

[8 yܭlo�]

yellow 4 65?FO=

[ 8 y ܭ l o� ]

green 4 75?5=O=

[gri:n]

green 4 75?5=O=

[ g r i : n ]

blue 4 E<=<=

[blu:]

blue 4 E<=<=

[ b l u : ]

purple 4 D<>?5F>6O=

[8pܮrp[l]

purple 4 D<>?5F>6O=

[ 8 p ܮ r p[ l ]

pink 4 D>7>6O=

[pjKk]

pink 4 D>7>6O=

[ p j Kk ]
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� &���$, 4 ���'�����&�/!

�> E4<>5 7?46=>5 4 6?5D54<! &5?5DL ?D54EF46LF5 E555, 5G4F> MF< E?>64 

>6<64NF < D4EF65F4NF D47=O<< >D4E>4<<. �=< ?D<>5D5F4NF >5N5< < D>D<G, 

=4?<64OEL F5< F65F><, >>F>DO= >5>7=4G4NF. �>F red ?O?45F >D4E=O< E DO6<<< 

E?>?>E4<< (654L red 4 MF> 5M5 < «DO6<=»), 4 green OD>> 75?5=55F, >4> <7G<-

DG4& �EF4?>EL 4>546<FL D>D<G: ?GEFL red E65D=5FEO DO65= ?<E<G>>=, orange 

?>6<E=5F 4?5?LE<=>< =4 65F>5, green D4E?GEF<FEO <>?>4O<< ?<EF>G>4<<& %>-

7?4E<F5EL, F4>>= >5D47 =5 E>>D> 6O65FD<FEO <7 64L5= ?4<OF<, 6 >F?<G<5 >F D>6-

=>7>, E>GG=>7>, =56OD47<F5?L=>7> F5>EF4. �> E4<>5 74<5G4F5?L=>5 4 F>, GF> 

<<5==> 6O =4?>?=O5F5 F5>EF F65F4<<, E<OE?4<<, >5N5>F4<<, ?>MF><G GE?5L=>5 

74?><<=4=<5, F4> 65 >4> < E>>D>GF5=<5, 6?>?=5 64< ?> E<?4<! 
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&�%& �� ��$�������� �����,��%&� 
(��&����� %. �. �$$��&����) 

�D>G<F4=F5 ?D54?4745<O5 GF65D645=<O. �>EF46LF5 7=4> «+», 5E?< 

6O E>7?4E=O E 44==O< GF65D645=<5<, < 7=4> «3», 5E?< =5 E>7?4E=O.

1. �N5?N =45?N44FL 74 >5?4>4<< < 765744<<. 

2. '4EF> =4?564N E555 ?>F<E>=L>G. 

3. �5 ?D<7=4N <>4G, >>F>D4O =5G4>5=4.

4. �N5?N E>4<FL 6 E4G=G.

5. � 46F><4L<=5 F65F 4?O <5=O <<55F 7=4G5=<5.

6. '7=4N ?> L474<, >F> 6>L5? 6 ?><5M5=<5.

7. �5=O D476?5>45F ?>4D464=<5 4<4?5>F4<.

8. �=5L=5<G 6<4G ?D<44N E5DL57=>5 7=4G5=<5.

9. �=5 =D46<FEO ?D<=<<4FL <4EE46.

10. �>744 5EFL 6D5<O, ?N5?N =45?N44FL 74 ?N4L<<.

11. �?>E> E55O GG6EF6GN, >>744 =5 =4E?4644NEL 

46<65=<5<.

12. �<4O >4564G 6 6<FD<=5, 7=4N, GF> <=5 5G45F 

E>D>L> 6 =5=.

13. �>744 E?OLG EF4DGN <5?>4<N, >> <=5 

6>76D4M45FEO ?D>L?>5.

14. �N5?N G<F4FL 6> 6D5<O 54O.

15. �N5?N ?>7>6>D<FL ?> F5?5D>=G.

16. ' <5=O 5EFL E>?>==>EFL > ?>?=>F5.

17. �D54?>G<F4N E?GL4FL D4EE>47, >>F>DO=   

>F>-F> G<F45F, G5< G<F4FL E4<><G.

18. �>E?5 ??>E>7> 4=O <>= >D74=<7< 

6 =4?DO65=<<.

19. �E>F=> < <=>7> D>F>7D4D<DGN.

20. �>?7> ?><=N, GF> <=5 E>474?< ?D<OF5?< <?< 

7=4>><O5.

21. �57>> <>7G >F44FL 45=L7< 74 F65FO, ?>F><G 

GF> >=< G>D4L4NF 6<7=L.

22. �5G5D>< ?N5?N ?D<=OFL 7>DOGGN 64==G.

23. %F4D4NEL 74?<EO64FL E6>< ?<G=O5 45?4.

24. '4EF> D477>64D<64N E E>5>=.
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25. �>E?5 4?<F5?L=>= 574O 6 46F><>5<?5 4>?7> 

?D<E>6G 6 E55O.

26. &5<5D 7>?>E4 <=>7>5 <=5 7>6>D<F > G5?>65>5.

27. �D<44N 7=4G5=<5 <4=5D5 >4564FLEO, 

E6>=EF65==>= 4DG7<<.

28. �N5?N ?>FO7<64FLEO, D4E?D46?OFL >>=5G=>EF<, 

D47<<=4FLEO.

29. %?<L>>< F65D44O <?< E?<L>>< <O7>4O ?>EF5?L 

4?O <5=O <G>4.

30. �=5 =5?57>> =4=F< G4>5=GN >5G6L.

31. �N5?N E<>FD5FL F5?5- < 6<45>D<?L<O.

32. �465 E?GEFO 7>4O <>7G G7=4FL ?<F4, >>F>DO5 

>>744-?<5> 6<45?.

33. �N5?N E>4<FL ?>4 4>645<, >>744 >4??< EFGG4F 

?> 7>=F<>G.

34. �N5?N E?GL4FL, >>744 7>6>DOF.

35. �N5?N 74=<<4FLEO 4>F<6=O< E?>DF>< <?< 

6O?>?=OFL >4><5-?<5> 46<74F5?L=O5 G?D46=5=<O, 

<=>744 < ?>F4=F564FL.

36. �>744 5?<7>> F<>45F 5G4<?L=<>, =5 <>7G GE=GFL.

37. ' <5=O =5??>E4O EF5D5>4??4D4FGD4.

38. �>744 E?GL4N <G7O>G, >F5<64N F4>F =>7>=.

39. �4 >F4OE5 =5 ?N5?N >E<4FD<64FL ?4<OF=<>< 

4DE<F5>FGDO.

40. �5 6O=>LG 55E?>DO4>>.

41. �5 ?N5?N E<=F5F<G5E><E F>4=5=.

42. %G<F4N, GF> 4F<>ED5D4 6 ?><5M5=<< 746<E<F 

>F >E65M5=<O.

43. '4EF> E>6G =4 >>=F5DFO.

44. �>64F<5 DG>< <=>7> 7>6>D<F <=5 > 44==>= 

?<G=>EF<.

45. �E>F=> ?>E5M4N 74?5D5< < 6OEF46><.

46. %5DL57=4O 4<E>GEE<O 4 MF> <=F5D5E=>.

47. '5D57 ?D<>>E=>65=<5 <>6=> E>474FL 

7=4G<F5?L=> 5>?LL5, G5< E?>64<<.

48. � LG<5 =5 <>7G E>ED54>F>G<FLEO.

>?NG =4 EFD. 28
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��.' � &�%&'
�<7G4?L=O= >4=4? 6>E?D<OF<O: 

1, 5, 8, 10, 12, 14, 19, 21, 23, 27, 

31, 32, 39, 40, 42, 45.

�G4<4?L=O= >4=4? 6>E?D<OF<O: 

2, 6, 7, 13, 15, 17, 20, 24, 26, 33, 

34, 36, 37, 43, 46, 48.

�<=5EF5F<G5E><= >4=4? 6>E?D<OF<O: 

3, 4, 9, 11, 16, 18, 22, 25, 28, 29, 

30, 35, 38, 41, 44, 47.

'D>6=< ?5DF5?F<6=>= <>44?L=>-

EF< (654GM57> F<?4 6>E?D<OF<O):

• 13 < 5>?55 4 6OE>><=;

• 8312 4 ED54=<=; 

• 7 < <5=55 4 =<7><=.

��&�$�$�&�&�/ $��'�,&�&��
�>4EG<F4=F5 >>?<G5EF6> ?>?>6<F5?L=OE >F65F>6 6 >46-

4>< D4745?5 >?NG4. �?D545?<F5, 6 >4>>= G4EF< 5>?LL5 

>F65F>6 «44» («+»). �O G7=45F5 E6>= F<? 654GM5= <>44?L-

=>EF<, F> 5EFL 4><<=<DGNM<= E?>E>5 6>E?D<OF<O.

�<7G4?. $<EG=><, >5D47=O5 >?<E4=<O, D>F>7D4D<< 7=4G4F 

4?O 44==>7> F<?4 5>?LL5, G5< E?>64. �D<=44?564M<5 
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